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What is the decimal representation 

of the hexadecimal number 55 

What is the purpose of FTP protocol What can an output be in 

programming 

What is the principle of run length 

encoding 

What is an advantage of lossless 

compression over lossy compression 

What is an algorithm 
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What is the decimal representation 

of the hexadecimal number 55 

 

The decimal representation of the 

hexadecimal number 55 is 85. 

What is the purpose of FTP protocol 

 

FTP protocol is used for file transfer 

on a network. 

What can an output be in 

programming 

 

It can be displaying text or playing 

sound, for example. 

What is the principle of run length 

encoding 

 

To find patterns of similar data that 

can be removed and then 

reconstructed later. 

What is an advantage of lossless 

compression over lossy compression 

 

It retains the file’s original data, 

while reducing its size. 

What is an algorithm 

 

An algorithm is a set of 

steps/instructions needed to 

complete a task. 

 


